ESM Solutions - Sourcing - Line Item Bid

Event ID B20037

Event Name Veterinary Technology Program Supplies

Section Name Standard Line Item Pricing

Section Attachments

Supplier Name	Response Notes	Response Attachment	Item/Service (Required - Entity)	Unit (Required - Entity)	Manufacturer (Required - Entity)	Quantity (Required -	Unit Bid Price (Required -	Extended Bid Price	Notes	SupplierNotes	Attachme nts	NoBid
						Entity)	Supplier)					
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	0.9% Sodium Chloride Injection, 1000mL	C12	DECHR		1 56.9900	56.99				No
MWI Veterinary Supply	signature page and terms	signature and terms	AnaSed LA Injection, Xylazine Sedative and Analgesic	50CC	VT1		2 25.8900	51.78				No
	addendum	addendum	for Horses and Cervidae, 50mL									
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	AniSet IV Anti Kink, 15 Drops/mL, Luer Lock, 78"	EACH	MILL		5 3.0400	15.20				No
MWI Veterinary Supply	signature page and terms	signature and terms	AniSet IV Anti Kink, Pediatric / Microbore, 60	EACH	MILL	1	5 2.9700	44.55				No
, , , , , ,	addendum	addendum	Drops/mL, Luer Lock, 70"									-
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Atropine Sulfate Injection, 1/120 Grain, 100mL	100CC	VT1		1 8.9400	8.94				No
MWI Veterinary Supply	signature page and terms	signature and terms	Attest Steam Chemical Integrator, 0.75" x 2.0"	P100	3M		3 13.1600	39.48				No
, сорр.,	addendum	addendum										
MWI Veterinary Supply	signature page and terms	signature and terms	Banamine (Flunixin Meglumine) Injectable Solution,	250CC	MERCK		1 39.2700	39.27				No
, сорр.,	addendum	addendum	Sterile. 250mL									
MWI Veterinary Supply	signature page and terms	signature and terms	Baytril 22.7 (Enrofloxacin) Taste Tabs, Antibacterial,	B100	BAYER		1 67.8200	67.82				No
, , , , , ,	addendum	addendum	100 Count									-
MWI Veterinary Supply	signature page and terms	signature and terms	BD Microtainer Blood Collection Tube, Mint Green Top	B50	BECTD		1 34.0900	34.09				No
,	addendum	addendum	, i									/
MWI Veterinary Supply	signature page and terms	signature and terms	BD PrecisionGlide Hypodermic Needle, Regular Bevel,	B100	BECTD		2 6.9500	13.90				No
, , , , , ,	addendum	addendum	Black, 22g x 0.75"									-
MWI Veterinary Supply	signature page and terms	signature and terms	BD Vacutainer Plus Blood Collection Tube, Plastic,	B100	BECTD		4 32.8000	131.20				No
,	addendum	addendum	Whole Blood, Lavender Top, 3mL Draw									/
MWI Veterinary Supply	signature page and terms	signature and terms	BD Vacutainer SST Blood Collection Tube, Plastic,	B100	BECTD		4 26.0100	104.04				No
,	addendum	addendum	Red/Gray Top, 3.5mL Draw									
MWI Veterinary Supply	signature page and terms	signature and terms	Betadine Solution, 1 Gallon	GAL	PURDU		1 40.8600	40.86				No
	addendum	addendum										/
MWI Veterinary Supply	signature page and terms	signature and terms	Biomox (Amoxicillin) 200mg, 500 Tablets	B500	VIRBA		1 173.0000	173.00				No
	addendum	addendum										
MWI Veterinary Supply	signature page and terms	signature and terms	Boston Round Squeeze Bottle with Yorker Top, Red	B25	VT1		1 0.8000	0.80				No
	addendum	addendum	Tip, 1oz									/
MWI Veterinary Supply	signature page and terms	signature and terms	Bupivacaine HCI Injection, USP 0.25%	10ML	AUROM		8 1.2600	10.08				No
	addendum	addendum										
MWI Veterinary Supply	signature page and terms	signature and terms	Bupivacaine HCI Injection, USP 0.5%	10ML	AUROM		8 1.5700	12.56				No
	addendum	addendum										/
MWI Veterinary Supply	signature page and terms	signature and terms	California Mastitis Test Concentrate, 16oz	PTS	IMMUC		2 6.5200	13.04				No
	addendum	addendum										
MWI Veterinary Supply	signature page and terms	signature and terms	Capstar Tablets for Cats 2 to 25 Pounds, Purple Label	CARD6	ELANC		2 23.1800	46.36				No
	addendum	addendum	(6 Dose)									
MWI Veterinary Supply	signature page and terms	signature and terms	Capstar Tablets for Dogs Over 25 Pounds, Green Label	CARD6	ELANC		1 24.0700	24.07				No
	addendum	addendum	(6 Dose)			1						
MWI Veterinary Supply	signature page and terms	signature and terms	Carprovet (Carprofen) Flavored Tablets for Dogs	B180	DECHR		1 81.5600	81.56				No
	addendum	addendum	100mg, 180 Count									
MWI Veterinary Supply	signature page and terms	signature and terms	Cephalexin Capsules 250mg, 100 Count	B100	LUPI		1 7.3900	7.39				No
	addendum	addendum						Ì	İ	Ì	1	

Supplier Name	Response Notes	Response Attachment	Item/Service (Required - Entity)	Unit (Required	Manufacturer	Quantity	Unit Bid Price	Extended Bid Price	Notes Suppl	lierNotes	Attachme N	NoBid
				- Entity)	(Required - Entity)	(Required - Entity)	(Required - Supplier)				nts	
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Cephalexin Capsules 500mg, 100 Count	B100	LUPI	Litercy	1 10.4900	10.49			N	No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Chlorhexidine 4% Scrub, 1 Gallon	GAL	VT1		1 28.5600	28.56			N	No
MWI Veterinary Supply	signature page and terms	signature and terms	Chlorhexidine Solution 2%, 1 Gallon	GAL	VT1		5 8.4000	42.00			N	No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Clavamox (Amoxicillin / Clavulanate) Drops for Veterinary Oral Suspension, 15mL	BX12	ZOET		1 213.0000	213.00			N	No
MWI Veterinary Supply	signature page and terms	signature and terms	Cohesiant Wrap Bold Color Assortment (Hunter Green/Purple/Blue), 2" x 5yd	B24	ABCPL		4 12.9200	51.68			N	No
MWI Veterinary Supply	signature page and terms	signature and terms	Cohesiant Wrap Bright Color Assortment (Blue/Green/Yellow), 4" x 5yd	B12	ABCPL		4 9.5500	38.20			N	No
MWI Veterinary Supply	signature page and terms	signature and terms	Comply Lead Free Steam Indicator Tape, 0.5" x 60yd	EACH	3M		2 3.8300	7.66			N	No
MWI Veterinary Supply	signature page and terms	signature and terms	Comply Lead Free Steam Indicator Tape, 0.7" x 60yd	EACH	3M		2 4.5200	9.04			N	No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Cotton Tipped Applicators Non-Sterile, 6"	B1000	VT1		3 4.4000	13.20			N	No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	CS Sterile Steel Blade, #10	B100	CINCI		1 25.5000	25.50			N	No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Curity Cotton Balls, Medium	P500	CARDL		3 1.7600	5.28			N	No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Delta-Lite Plus Fiberglass Cast Tape, White, 2" x 4yd	B10	BSN		2 43.5600	87.12			N	No
MWI Veterinary Supply	signature page and terms	signature and terms	Delta-Lite Plus Fiberglass Cast Tape, White, 4" x 4yd	B10	BSN		2 66.7300	133.46			N	No
MWI Veterinary Supply	signature page and terms	signature and terms	Dexamethasone-SP (Sodium Phosphate) Sterile Injection 4mg/mL, 100mL	100CC	VT1		1 21.9800	21.98			N	No
MWI Veterinary Supply	signature page and terms	signature and terms	Dexdomitor 0.5 (Dexmedetomidine Hydrochloride) Sterile Injectable Solution, 10mL	10ML	ZOET		1 190.3500	190.35			N	No
MWI Veterinary Supply	signature page and terms	signature and terms	Dextrose 50% Sterile Preservative Free Solution Injection. 500mL	500CC	VT1		1 2.8100	2.81				No
MWI Veterinary Supply	signature page and terms	signature and terms	Disposable Surgical Shoe Covers, Blue	B100	JORG		9 18.3300	164.97			N	No
MWI Veterinary Supply	signature page and terms	signature and terms	Dosimetery Badge Service 30+ 90 Day Body	QTRLY	VT1	7	0 7.8500	549.50				No
MWI Veterinary Supply	signature page and terms	signature and terms	Dosimetry Badge Service (Quarterly or Monthly)	QTRLY	VT1	4	8				Y	Yes
MWI Veterinary Supply	signature page and terms	signature and terms	Doxycycline Hyclate Tablets 20mg, 100 Count	B100	LANNE		3 18.9700	56.91				No
MWI Veterinary Supply	signature page and terms	signature and terms	Doxycycline Tab 100mg B50	B50	EPICP		1 3.8300	3.83			N	No
MWI Veterinary Supply	addendum signature page and terms	signature and terms	Dri-I Schirmer Test Strips	B100	JORG		1 12.9000	12.90				No
MWI Veterinary Supply	addendum signature page and terms	addendum signature and terms	Drontal Plus Taste Tabs for Medium Sized Dogs 26 to	B40	BAYER		1 344.1500	344.15			N	No
MWI Veterinary Supply	addendum signature page and terms addendum	addendum signature and terms addendum	60 Pounds, 40 Count Drontal Plus Taste Tabs for Puppies and Small Dogs 2 to 25 Pounds, 40 Count	B40	BAYER		1 132.2700	132.27			N	No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Drontal Tablets for Cats and Kittens 2 to 16 Pounds, Blue Label, 50 Count	B50	BAYER		1 199.3800	199.38			N	No

Supplier Name	Response Notes	Response Attachment	Item/Service (Required - Entity)	Unit (Required	Manufacturer	Quantity	Unit Bid Price	Extended Bid Price	Notes	SupplierNotes	Attachme !	NoBid
				- Entity)	(Required - Entity)	(Required - Entity)	(Required - Supplier)				nts	
MWI Veterinary Supply	signature page and terms	signature and terms	Elastikon Elastic Tape Speed Pack, 2" x 2.5yd	C24	1&1	entity)	1 23.6500	23.65			1	No
	addendum	addendum	,									
MWI Veterinary Supply	signature page and terms	signature and terms	Electrolyte Paste 60mL - Apple	EACH	FARNA	6	6.3300	379.80			1	No
	addendum	addendum										
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Encore Sensi-Touch PF Surgical Gloves, Size 6.5	B50	ANSEL		38.0700	152.28			1	No
MWI Veterinary Supply	signature page and terms	signature and terms	Encore Sensi-Touch PF Surgical Gloves, Size 7.5	B50	ANSEL		1 38.0700	38.07			1	No
Land vecermany supply	addendum	addendum	2.160/16 Gensi (Guerra) Gungilear Groves/ Size (15		7.11022		50.0700	56.67			ľ	
MWI Veterinary Supply	signature page and terms	signature and terms	Encore Sensi-Touch PF Surgical Gloves, Size 8	B50	ANSEL		1 38.0700	38.07			1	No
	addendum	addendum										
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Encore Sensi-Touch PF Surgical Gloves, Size 8.5	B50	ANSEL		38.0700	38.07			1	No
MWI Veterinary Supply	signature page and terms	signature and terms	EnteDerm Ointment, 15mL	15ML	VT1		8 6.2200	49.76			1	No
, , oapp.,	addendum	addendum			_		3.2200	.5.70			ľ	-
MWI Veterinary Supply	signature page and terms	signature and terms	EnteDerm Ointment, 7.5mL	7.5ML	VT1		2 3.6000	7.20			1	No
, ., ,	addendum	addendum	·									
MWI Veterinary Supply	signature page and terms	signature and terms	Epinephrine Injection 1:1000, Sterile Multi Dose Vial,	50ML	VT1		1 23.2400	23.24			1	No
	addendum	addendum	50mL									
MWI Veterinary Supply	signature page and terms	signature and terms	Euthanasia Solution, 100mL	100CC	VT1		50.1500	0.00			1	No
	addendum	addendum										
MWI Veterinary Supply	signature page and terms	signature and terms	Everwin Tech Rechargeable Battery 72200, 3.5 Volt	EACH	BULBT		16.1500	96.90			1	No
	addendum	addendum										
MWI Veterinary Supply	signature page and terms	signature and terms	E-Z Lubricating Jelly Foil Pack, Sterile, 2.7gm	B144	MEDLI		1 10.3500	10.35			l l	No
A ANA (I M.	addendum	addendum	5.75 × 1.5 × 1.45 × 1.11 × 1.15 × 1.11 × 1.15 × 1.11 × 1.15 × 1.1	220	DECED		20.4200	00.20				
MWI Veterinary Supply	signature page and terms addendum	signature and terms	E-Z Scrub Surgical Scrub Hand Brush with 4% CHG	B30	BECTD		3 29.4300	88.29			l l'	No
MWI Veterinary Supply	signature page and terms	signature and terms	F/AIR Canister, 3.25" x 6"	EACH	BICKF		5.5700	33.42				No
www vecennary supply	addendum	addendum	r/Ain Callister, 3.23 x 0	EACH	BICKF	'	3.3700	35.42				NO
MWI Veterinary Supply	signature page and terms	signature and terms	Face Mask with Earloops, Blue	B50	ABCPL	1	7.8700	78.70			1	No
	addendum	addendum										
MWI Veterinary Supply	signature page and terms	signature and terms	Fecal Diagnostic Kit Refill	BG50	VT1	1	8.9100	133.65			1	No
	addendum	addendum										
MWI Veterinary Supply	signature page and terms	signature and terms	Fecasol Solution, 1 Gallon	GAL	VETOQ		28.6900	57.38			1	No
MANA/I Matarinary Cumply	addendum	addendum	Foliumy Classic Spray COml	60ML	CEVA		6 26.0000	156.00				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Feliway Classic Spray, 60mL	DUIVIL	CEVA	'	26.0000	156.00				NO
MWI Veterinary Supply	signature page and terms	signature and terms	Fluriso (Isoflurane) Liquid for Inhalation, 250mL	250CC	VT1		3 22.0700	66.21			-	No
ivivvi veterinary suppry	addendum	addendum	riuriso (isonurane) Eiquiu ioi inilalation, 250me	23000	VII		22.0700	00.21				NO
MWI Veterinary Supply	signature page and terms	signature and terms	Free Form Omega-3 Fish Oil for Medium and Large	B60	BAYER		2 17.7600	35.52			1	No
, , , , , , , , , , , , , , , , , , , ,	addendum	addendum	Dogs, 60 Snip Tip Capsules				2.17000	35.52				
MWI Veterinary Supply	signature page and terms	signature and terms	Frontline Plus for Dogs 5 to 22 Pounds, Orange Label	CARD3	MERIA	1	211.3200	2113.20			ı	No
, ,,,	addendum	addendum	(3 Dose)									
MWI Veterinary Supply	signature page and terms	signature and terms	Gabapentin Capsules 100mg, 100 Count	B100	SCIEG		1 3.3100	3.31			1	No
	addendum	addendum										
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Gauze Sponge 12-Ply, Woven, Non-Sterile, 3" x 3"	P200	ABCPL		2.5700	17.99			1	No
MWI Veterinary Supply	signature page and terms	signature and terms	Gauze Sponge 4-Ply Premium, Non-Woven, Non-	P200	ABCPL	2	55.4700	1109.40				No
ivivvi veteriliary suppry	addendum	addendum	Sterile, 3" x 3"	7200	ABCFL	2	33.4700	1109.40				NO
MWI Veterinary Supply	signature page and terms	signature and terms	GenOne Topical Spray, 60mL	60CC	VT1		2 4.6600	9.32			1	No
1	addendum	addendum	3.12 . 2	1	-			3.52			ľ	-

Supplier Name	Response Notes	Response Attachment	Item/Service (Required - Entity)	Unit (Required	Manufacturer	Quantity	Unit Bid Price	Extended Bid Price	Notes S	upplierNotes	Attachme	NoBid
				- Entity)	(Required - Entity)	(Required - Entity)	(Required - Supplier)				nts	
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Hydrogen Peroxide 3%, 1 Gallon	GAL	VT1	Energy		12.98				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	I-Glo Fluorescein Dye Strips	B100	JORG		1 10.3200	10.32				No
MWI Veterinary Supply	signature page and terms	signature and terms	Imrab Large Animal Rabies Vaccine, Killed Virus, 50mL	25DS	MERIA		99.7900	199.58				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Isopropyl Alcohol 70% Topical, 32oz	EA	VT1	2	2.5300	50.60				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	IV Extension Set with T-Connector, Microbore, Luer Slip, 5.0"	EACH	ZOET	2	3.2400	64.80				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	IV Extension Set, Macrobore, 30"	EACH	HOSPI	3	18.3200	549.60				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	IV Extension Set, T-Port, 13g x 7.0"	EACH	JORG	2	1.7300	34.60				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	IV Extension Set, T-Port, Standard Bore, 5.0"	EACH	JORG	1	2.4500	36.75				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Kendall Standard Porous Tape, 0.5" x 10yd	B24	CARDL		10.8600	21.72				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	KennelSol Germicidal Detergent and Deodorant, 1 Gallon	GAL	ALTEC	2	1 21.8200	458.22				No
MWI Veterinary Supply	signature page and terms	signature and terms	Kwik Stop Styptic Powder, 0.5oz	14GM	MIRAC		4.3800	21.90				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Lactated Ringer's Injection, 1000mL	C12	HOSPI		56.9900	227.96				No
MWI Veterinary Supply	signature page and terms	signature and terms	Lactated Ringer's Injection, Sterile Nonpyrogenic Solution, 250 mL	CS24	VT1		1 102.2700	102.27				No
MWI Veterinary Supply	signature page and terms	signature and terms	Lactulose Solution 10gm/15mL, 16oz	16OZ	AKORN		5.5200	5.52				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Laparotomy Sponge Radio-Opaque with Loops 8-Ply, Non-Sterile, 18" x 18"	P5	JORG		2.7800	11.12				No
MWI Veterinary Supply	signature page and terms	signature and terms	Laryngoscope Replacement Light Bulb, Long	EACH	JORG		8.5100	8.51				No
MWI Veterinary Supply	signature page and terms	signature and terms	Laryngoscope Replacement Light Bulb, Short	EACH	JORG		7.2300	7.23				No
MWI Veterinary Supply	signature page and terms	signature and terms	Latex Exam Gloves, Powder-Free, Large	B100	ABCPL		19.6500	98.25				No
MWI Veterinary Supply	signature page and terms	signature and terms	Latex Exam Gloves, Powder-Free, Medium	B100	ABCPL	2	19.6500	393.00				No
MWI Veterinary Supply	signature page and terms	signature and terms	Lens Paper Book, 4" x 6"	воок	MCKES	;	0.9100	2.73				No
MWI Veterinary Supply	signature page and terms	signature and terms	Lidocaine Hydrochloride Injection 2%, 250mL	250CC	VEDCO		1 4.2400	4.24				No
MWI Veterinary Supply	signature page and terms	signature and terms	Metacam (Meloxicam) 0.5mg/mL Oral Suspension for Dogs, 30mL	30ML	MERIA		2 30.7500	61.50				No
MWI Veterinary Supply	signature page and terms	signature and terms	Metacam (Meloxicam) 1.5mg/mL Oral Suspension for Dogs, 100mL	100ML	MERIA		1 75.7500	75.75				No
MWI Veterinary Supply	signature page and terms	signature and terms addendum	Metacam (Meloxicam) 5mg/mL Solution for Injection, 10mL	10ML	MERIA		1 98.2500	98.25				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Metoclopramide Tablets 5mg, 100 Count	B100	TEVA		1 2.8200	2.82				No

Supplier Name	Response Notes	Response Attachment	Item/Service (Required - Entity)	Unit (Required	Manufacturer	Quantity	Unit Bid Price	Extended Bid Price	Notes	SupplierNotes	Attachme	NoBid
				- Entity)	(Required - Entity)	(Required - Entity)	(Required - Supplier)				nts	
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Metronidazole Tablets 500mg, 100 Count	B100	VIONA	Litercyy	1 5.7000	5.70				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Metronidazole Tabs 250mg	B100	UNICH		2 4.5100	9.02				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	MicroHematocrit Blue Tip Tube	B100	JORG		9 3.4800	31.32				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Microscope Cover Slip, Super White Glass, 22mm x 22mm	B160	ABCPL	1	0 3.3200	33.20				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Microscope Slide, Standard, Plain Finish, 25mm x 75mm x 1.0mm	B72	ABCPL		6 2.9900	17.94				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Midazolam Injection 50mg/10mL (5mg/mL), 10mL	10ML	AKORN		1 6.4500	6.45				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Millpack Self-Seal Sterilization Pouch, 5.25" x 10"	P200	MILL		3 27.7300	83.19				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Mirtazapine Tablets 15mg, 30 Count	B30	AUROB		1 2.3300	2.33				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Modified Jackson Rees Non-Rebreathing Circuit with 1 Liter Bag	EACH	JORG		2 19.0900	38.18				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Monoject Blood Collection Tube, Lavender Top, 5mL Draw	B100	CARDL		1 21.6600	21.66				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Monoject Blood Collection Tube, Red Top, 5mL Draw	B100	CARDL		1 22.8600	22.86				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Monoject Hypodermic Veterinary Needle, Polypropylene Hub, Regular Bevel, Blue, 22g x 1.0"	B100	CARDL		4 7.7300	30.92				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Monoject Hypodermic Veterinary Needle, Polypropylene Hub, Regular Bevel, Green, 18g x 1.0"	B100	CARDL		2 7.7500	15.50				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Monoject Hypodermic Veterinary Needle, Polypropylene Hub, Regular Bevel, Pink, 20g x 0.75"	B100	CARDL		5 7.7300	38.65				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Monoject Soft Pack 1cc Tuberculin (TB) Syringe with Detachable Needle, Red, 25g x 5/8"	B100	CARDL		1 12.3900	12.39				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Monoject Syringe Tip Cap for Lock Tip / Slip Tip	B100	CARDL		1 6.0200	6.02				No
MWI Veterinary Supply	signature page and terms	signature and terms	Monoject Syringe, Catheter Tip, 35cc	B30	CARDL		2 17.8900	35.78				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Monoject Syringe, Luer Lock Tip, 12cc	B80	CARDL		1 15.0800	15.08				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Monoject Syringe, Luer Lock Tip, 6cc	B50	CARDL		1 8.7300	8.73				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Monoject Syringe, Soft Pack, Luer Lock Tip, 6cc	B100	CARDL		1 17.4700	17.47				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Naloxone Injection 0.4mg/mL MDV, 10mL	10ML	SOMER		2 129.4500	258.90				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Nitrile Exam Gloves for Chemotherapy Use, Powder- Free, Blue, Large	B200	ABCPL	1	0 22.3100	223.10				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Nitrile Exam Gloves for Chemotherapy Use, Powder- Free, Blue, Medium	B200	ABCPL	2	5 22.3100	557.75				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Nitrile Exam Gloves for Chemotherapy Use, Powder- Free, Blue, Small	B200	ABCPL	2	0 22.3100	446.20				No

Supplier Name	Response Notes	Response Attachment	Item/Service (Required - Entity)	Unit (Required	Manufacturer	Quantity	Unit Bid Price	Extended Bid Price	Notes	SupplierNotes	Attachme I	NoBid
				- Entity)	(Required - Entity)	(Required - Entity)	(Required - Supplier)				nts	
MWI Veterinary Supply	signature page and terms	signature and terms	Nobivac Canine 3-DAPv Vaccine, Modified Live Virus,	P25	MERCK	Elitity)	2 382.0500	764.10				No
	addendum	addendum	25 x 1mL									ĺ
MWI Veterinary Supply	signature page and terms	signature and terms	Nobivac Feline 2-FeLV Vaccine, Killed Virus, 25 x 1mL	B25	MERCK		1 360.8600	360.86				No
	addendum	addendum										1
MWI Veterinary Supply	signature page and terms	signature and terms	Nobivac Feline 3-HCP Vaccine, Modified Live Virus, 25	P25	MERCK		1 371.4400	371.44			ſ	No
,	addendum	addendum	x 1mL									1
MWI Veterinary Supply	signature page and terms	signature and terms	Nobivac Lepto4 Canine Vaccine, 25 x 1mL	B25	MERCK		2 193.0500	386.10			T I	No
,	addendum	addendum	, ,									1
MWI Veterinary Supply	signature page and terms	signature and terms	Nolvasan Surgical Scrub, 1 Gallon	GAL	ZOET		3 111.8500	335.55			ſ	No
	addendum	addendum										1
MWI Veterinary Supply	signature page and terms	signature and terms	Non-Adherent Pad, Sterile, Latex-Free, 3" x 4"	B100	ABCPL		1 17.4400	17.44			T I	No
	addendum	addendum										1
MWI Veterinary Supply	signature page and terms	signature and terms	Nylon Muzzle, Gray, Large	EACH	JORG		2 6.8400	13.68			ſ	No
	addendum	addendum										1
MWI Veterinary Supply	signature page and terms	signature and terms	OB Lube, Non-Spermicidal, Sterile, 5oz	5OZ	VT1	3	1.7500	54.25			1	No
	addendum	addendum										
MWI Veterinary Supply	signature page and terms	signature and terms	OB Lubricant, 1 Gallon	EACH	CHEM		1 7.6600	7.66			ſ	No
	addendum	addendum										1
MWI Veterinary Supply	signature page and terms	signature and terms	Omeprazole Delayed Release Capsules 10mg, 100	B100	GLENM		2 3.3200	6.64				No
	addendum	addendum	Count									1
MWI Veterinary Supply	signature page and terms	signature and terms	Omeprazole Delayed Release Capsules 20mg, 30 Count	B30	GLENM		2 0.9500	1.90			ſ	No
	addendum	addendum										1
MWI Veterinary Supply	signature page and terms	signature and terms	One-Cryl Synthetic Absorbable Suture #2-0, 36" Violet	B12	VT1		2 39.8600	79.72				No
	addendum	addendum	Monofilament Poliglecaprone, 3/8 Circle, 24mm									1
			Reverse Cutting Needle (FS-1)									1
MWI Veterinary Supply	signature page and terms	signature and terms	One-Cryl Synthetic Absorbable Suture #3-0, 36" Violet	B12	VT1		3 39.8600	119.58			r	No
	addendum	addendum	Monofilament Poliglecaprone, 3/8 Circle, 24mm									1
			Reverse Cutting Needle (FS-1)									1
MWI Veterinary Supply	signature page and terms	signature and terms	One-Dox Synthetic Absorbable Suture #0, 30" Violet	B12	VT1		3 42.1500	126.45			1	No
	addendum	addendum	Monofilament Polydioxanone, 1/2 Circle, 37mm									
			Reverse Cutting Needle (CP-1)									
MWI Veterinary Supply	signature page and terms	signature and terms	One-Dox Synthetic Absorbable Suture #2-0, 30" Violet	B12	VT1		1 40.7200	40.72			1	No
	addendum	addendum	Monofilament Polydioxanone, 3/8 Circle, 24mm									1
			Reverse Cutting Needle (FS-1)									1
MWI Veterinary Supply	signature page and terms	signature and terms	One-Dox Synthetic Absorbable Suture #3-0, 30" Violet	B36	VT1		1 42.1500	42.15			[r	No
	addendum	addendum	Monofilament Polydioxanone, 3/8 Circle, 26mm									1
			Reverse Cutting Needle (FS-1)									1
MWI Veterinary Supply	signature page and terms	signature and terms	One-Lon Synthetic Non-Absorbable Suture #4-0, 30"	B12	VT1		2 23.9100	47.82			1	No
	addendum	addendum	Blue Monofilament Nylon, 3/8 Circle, 19mm Reverse									1
			Cutting Needle (FS-2)									1
MWI Veterinary Supply	signature page and terms	signature and terms	Onsior (Robenacoxib) for Cats, 6mg, 30 Tablets	B30	ELANC		1 70.9100	70.91			[r	No
	addendum	addendum										1
MWI Veterinary Supply	signature page and terms	signature and terms	Optixcare Eye Lube 20 gm	20GM	AVENT		2 8.2000	16.40			1	No
	addendum	addendum										<u>L</u>
MWI Veterinary Supply	signature page and terms	signature and terms	Otoscope Specula, Disposable, 4mm	B50	DEEVE		1 9.8400	9.84			1	No
	addendum	addendum										
MWI Veterinary Supply	signature page and terms	signature and terms	Panacur Horse and Cattle Dewormer Suspension,	1000C	MERCK		1 121.2800	121.28			ſ	No
,	addendum	addendum	1000mL									i
MWI Veterinary Supply	signature page and terms	signature and terms	Plastic Pill Vial with 1-Clic Reversible Closure, Amber,	C200	OWENS		1 72.8500	72.85			,	No
	addendum	addendum	10 Dram									

Supplier Name	Response Notes	Response Attachment	Item/Service (Required - Entity)	Unit (Required	Manufacturer	Quantity	Unit Bid Price	Extended Bid Price	Notes S	SupplierNotes	11111	NoBid
				- Entity)	(Required - Entity)	(Required - Entity)	(Required - Supplier)				nts	
MWI Veterinary Supply	signature page and terms	signature and terms	Plastic Pill Vial with Child Safety Cap, Blue, 20 Dram	B150	VT1	Entity)	1 49.0500	49.05			1	No
	addendum	addendum	,									
MWI Veterinary Supply	signature page and terms	signature and terms	Polystyrene Centrifuge Tube, 15mL	B100	JORG		23.5800	188.64			1	No
	addendum	addendum										
MWI Veterinary Supply	signature page and terms	signature and terms	Porous Tape, 1" x 11 yd	P12	ABCPL		10.2100	20.42			P	No
	addendum	addendum										
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Primary IV Set A, 1 Port, 78"	EACH	ZOET	4	3.1600	126.40			N	No
MWI Veterinary Supply	signature page and terms	signature and terms	Primary IV Set B, 1 Port, 103"	EACH	ZOET	1	3.2400	58.32			1	No
	addendum	addendum										
MWI Veterinary Supply	signature page and terms	signature and terms	Pro Plan Focus Kitten, Chicken and Rice Formula, 7lb	7LB	PURI		2 17.3900	34.78			1	No
	addendum	addendum										
MWI Veterinary Supply	signature page and terms	signature and terms	Pro Plan Savor Chicken and Rice Entrée Classic for	C12	PURI	4	14.7700	590.80			1	No
	addendum	addendum	Adult Dogs, 13oz									
MWI Veterinary Supply	signature page and terms	signature and terms	Pro Plan Savor Chicken and Rice Entrée for Adult Cats,	C24	PURI	2	18.9700	493.22			1	No
	addendum	addendum	3oz									
MWI Veterinary Supply	signature page and terms	signature and terms	Pro Plan Savor Chicken and Rice Formula for Adult	16LB	PURI	1	1 29.1100	320.21			P	No
	addendum	addendum	Cats, 16lb									
MWI Veterinary Supply	signature page and terms	signature and terms	Pro Plan Savor Salmon and Rice Entrée for Adult Cats,	C24	PURI	1	18.9700	189.70			N	No
	addendum	addendum	3oz									
MWI Veterinary Supply	signature page and terms	signature and terms	Pro Plan Savor Shredded Blend, Chicken and Rice	35LB	PURI	2	40.7700	978.48			N	No
	addendum	addendum	Formula for Adult Dogs, 35lb									
MWI Veterinary Supply	signature page and terms	signature and terms	Proparacaine Ophthalmic Solution 0.5% 15ML	15ML	VALEA		25.8400	51.68			l l	No
A MARIA CARA CARA CARA CARA CARA CARA CARA	addendum	addendum	Post Post Car Mist Shell State Car	D200	VT1		22 2200	22.22				
MWI Veterinary Supply	signature page and terms	signature and terms addendum	Prophy Paste Cups, Mint with Fluoride, Fine Grit	P200	VII		1 22.2300	22.23			l l	No
MWI Veterinary Supply	addendum		PropoFlo 28 (Propofol) Anesthetic Injection for Dogs,	P5	ZOET		2 63.8000	127.60			_	No
	signature page and terms addendum	signature and terms addendum	20mL									
MWI Veterinary Supply	signature page and terms	signature and terms	ProView Plus Self Seal Sterilization Pouch, 2.25" x 4.0"	B200	COTTE		1 10.5900	10.59			1	No
	addendum	addendum										
MWI Veterinary Supply	signature page and terms	signature and terms	PureVax Feline Rabies Vaccine, Live Canarypox Vector,	B25	MERIA		1 332.7500	332.75			l l	No
	addendum	addendum	25 x 1mL									
MWI Veterinary Supply	signature page and terms	signature and terms	Putney Carprofen Chewable Tablets for Dogs 100mg,	B60	PUTNE		4 23.0000	92.00			P	No
	addendum	addendum	60 Count									
MWI Veterinary Supply	signature page and terms	signature and terms	Putney Carprofen Chewable Tablets for Dogs 25mg, 60	B60	PUTNE		15.0000	30.00			l l	No
	addendum	addendum	Count	4607	4.51/		44 7000	44.70				
MWI Veterinary Supply	signature page and terms	signature and terms	Pyrantel Pamoate Suspension, 16oz	16OZ	APX		11.7200	11.72			l l	No
NANA/I N/atarinama Caranla	addendum	addendum	O Time Cotton Comba	B100	JORG		3 4.4000	13.20				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Q-Tips Cotton Swabs	B100	JORG		4.4000	13.20			l I	NO
MWI Veterinary Supply	signature page and terms	signature and terms	QuikClean Waterless Shampoo, 8oz	8OZ	ZOET		2 13.3500	26.70			- 	No
ivivvi veterinary suppry	addendum	addendum	Quikclean Wateriess Shampoo, 802	802	ZOET		15.5500	20.70			ľ	NO
MWI Veterinary Supply	signature page and terms	signature and terms	Rabvac 1 Rabies Vaccine, Killed Virus, 10mL	10DS	ELANC		2 26.4100	52.82			-	No
ivivi veterinary suppry	addendum	addendum	nabvac i nabica vaccine, kilicu virus, ionie	1003	LLAIVE		20.4100	32.62			i i	.0
MWI Veterinary Supply	signature page and terms	signature and terms	Rapid Differential Stain #1, Fixative, 500mL	500CC	VT1		2 15.8100	31.62			1	No
receiment supply	addendum	addendum	The state of the s				15.5100	31.02			[[
MWI Veterinary Supply	signature page and terms	signature and terms	Rapid Differential Stain #2, Red, 500mL	500CC	VT1		2 16.9000	33.80			1	No
,	addendum	addendum	.,	,				20.00				
MWI Veterinary Supply	signature page and terms	signature and terms	Rapid Differential Stain #3, Blue, 500mL	500CC	VT1		2 17.9100	35.82			1	No
, ,	addendum	addendum		1								

Supplier Name	Response Notes	Response Attachment	Item/Service (Required - Entity)	Unit (Required		Quantity	Unit Bid Price	Extended Bid Price	Notes SupplierNotes	Attachme NoBid
				- Entity)	(Required - Entity)	(Required - Entity)	(Required - Supplier)			nts
MWI Veterinary Supply	signature page and terms	signature and terms	Rapid Differential Stain Refill, Fixative/Red/Blue (3 x	P3	VT1	Litercy	5 38.4100	192.05		No
, , , , , ,	addendum	addendum	500mL)							
MWI Veterinary Supply	signature page and terms	signature and terms	RapidVet D, Dermatophyte Screening Tube	BX10	DMS		1 49.1400	49.14		No
	addendum	addendum								
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	RapidVet H Canine Blood Typing with Controls	B5	DMS		1 115.0000	115.00		No
MWI Veterinary Supply	signature page and terms	signature and terms	RapidVet H Crossmatch Kit, Minor	B3	DMS		3 135.0000	405.00		No
ivivii veterinary suppry	addendum	addendum	Rapidvet in Crossifiateri Kit, Million	БЭ	DIVIS		3 133.0000	403.00		NO
MWI Veterinary Supply	signature page and terms	signature and terms	Revolution Plus for Cats 11.1 to 22 Pounds, Green	P6	ZOET		2 82.0000	164.00		No
	addendum	addendum	Label (6 Dose)							
MWI Veterinary Supply	signature page and terms	signature and terms	Revolution Plus for Cats 5.6 to 11 Pounds, Orange	P6	ZOET		80.0000	640.00		No
	addendum	addendum	Label (6 Dose)							
MWI Veterinary Supply	signature page and terms	signature and terms	Safe-Guard Dewormer, 1 Liter	1000C	MERCK		1 121.2800	121.28		No
	addendum	addendum			= 1.51	4.5	0.0500	107.50		
MWI Veterinary Supply	signature page and terms	signature and terms	Safelet IV Catheter, Blue, 22g x 1.0"	EACH	EXEL	15	0.8500	127.50		No
MANAI Matarinary Cumply	addendum	addendum	Safalat IV Cathotax Croon 19g v 1 35"	EACH	EXEL	5	0.7000	39.50		No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Safelet IV Catheter, Green, 18g x 1.25"	EACH	EXEL	5	0.7900	39.50		NO
MWI Veterinary Supply	signature page and terms	signature and terms	Safelet IV Catheter, Pink, 20g x 1.0"	EACH	EXEL	30	5 0.8100	247.05		No
Witti vetermary suppry	addendum	addendum	Surfect Weatherer, Film, 20g X 1.0	Literi	LACE		0.0100	247.03		
MWI Veterinary Supply	signature page and terms	signature and terms	SevoFlo (Sevoflurane) Inhalation Anesthetic, 250mL	250CC	ZOET		1 260.4000	260.40		No
, , , , , , ,	addendum	addendum	, , , , , , , , , , , , , , , , , , , ,							
MWI Veterinary Supply	signature page and terms	signature and terms	Sharps-A-Gator Sharps Container, 4 Quart	EACH	CARDL	3	2.9800	95.36		No
	addendum	addendum								
MWI Veterinary Supply	signature page and terms	signature and terms	Silver Nitrate Applicators	P100	VT1		1 18.7800	18.78		No
	addendum	addendum								
MWI Veterinary Supply	signature page and terms	signature and terms	Simbadol (Buprenorphine) Injection for Cats, Opioid	10ML	ZOET		1 253.6000	253.60		No
	addendum	addendum	Analgesic, 10mL							
MWI Veterinary Supply	signature page and terms	signature and terms	SodaSthesia Carbon Dioxide Absorbent Granules, 3lb	3LB	VT1		5 6.0700	30.35		No
	addendum	addendum								
MWI Veterinary Supply	signature page and terms	signature and terms	Sodium Bicarbonate 8.4% Injection, Single Dose Vial,	100CC	VT1		1 8.5100	8.51		No
MANAI Matarinary Cumply	addendum	addendum	100mL Sof-Form Conforming Stretch Gauze Bandage, Non-	B12	MEDLI		6 2.4400	14.64		No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Sterile. 2" x 75"	RIZ	IVIEDLI		2.4400	14.64		NO
MWI Veterinary Supply	signature page and terms	signature and terms	Sof-Form Conforming Stretch Gauze Bandage, Non-	B12	MEDLI		4.4300	17.72		No
Witti vetermary suppry	addendum	addendum	Sterile, 4" x 75"	512	WILDE		4.4300	17.72		
MWI Veterinary Supply	signature page and terms	signature and terms	Softies Foam Ear Plugs, Orange	BX200	AGRIP		1 25.1100	25.11		No
, , , ,	addendum	addendum	<i>3,</i> 3							
MWI Veterinary Supply	signature page and terms	signature and terms	Specialist Cotton Blend Cast Padding, 2" x 4yd	P24	BSN		1 14.4200	14.42		No
	addendum	addendum								
MWI Veterinary Supply	signature page and terms	signature and terms	Sterile Saline Solution 0.9%, 250mL	250CC	VT1	2	4 2.4900	59.76		No
	addendum	addendum								
MWI Veterinary Supply	signature page and terms	signature and terms	Sterile Water for Injection, 10mL	BX25	HOSPI		1 28.6000	28.60		No
A04014	addendum	addendum	Continue of the state of the st	25066	\/T4		2			
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Sterile Water for Injection, Diluent, 250mL	250CC	VT1		2 2.4300	4.86		No
MWI Veterinary Supply	signature page and terms	signature and terms	Sterilization Pouch, Self-Sealing, 3.5" x 10"	P200	VT1		2 8.0700	16.14		No
ivivi veterinary suppry	addendum	addendum	Stermandir Fouch, Sen-Sealing, 3.3 × 10	1 200	V 1 1		5.0700	10.14		
MWI Veterinary Supply	signature page and terms	signature and terms	Sterilization Pouch, Self-Sealing, 3.5" x 6.5"	P200	VT1		1 8.8900	8.89		No
,	addendum	addendum	,				1.2500	2.33		

Supplier Name	Response Notes	Response Attachment	Item/Service (Required - Entity)	Unit (Required	Manufacturer	Quantity	Unit Bid Price	Extended Bid Price	Notes	SupplierNotes	Attachme N	NoBid
				- Entity)	(Required - Entity)	(Required - Entity)	(Required - Supplier)				nts	
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	SurFlash IV Catheter, Gray, 16g x 2.5"	EACH	TERUM	10		12.60			1	No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	SurFlo IV Catheter Adapter Injection Plug, Luer Lock	EACH	TERUM	100	0.5000	50.00			ı	No
MWI Veterinary Supply	signature page and terms	signature and terms	SurFlo IV Catheter, Blue, 22g x 1.0"	EACH	TERUM	155	1.0100	156.55			ı	No
MWI Veterinary Supply	signature page and terms	signature and terms	SurFlo IV Catheter, Yellow, 24g x 0.75"	EACH	TERUM	50	1.0100	50.50			ı	No
MWI Veterinary Supply	signature page and terms	signature and terms	SurFlo Winged IV Infusion Set, Ultra Thin Wall, Black, 22g x 0.75" with 12" Tubing	EACH	TERUM	25	0.4000	10.00			1	No
MWI Veterinary Supply	signature page and terms	signature and terms	Surgical Adhesive, 3mL	3CC	VT1	3	12.1800	36.54			ı	No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Surgical Bouffant Cap, Blue, 24"	B100	VT1	2	21.2100	42.42			1	No
MWI Veterinary Supply	signature page and terms	signature and terms	Surgical Instrument Cleaner and Lubricant, 1 Gallon	GAL	INT	1	. 22.7900	22.79			1	No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Surgical Instrument Cleaner, 8oz	8OZ	INT	2	7.9800	15.96			1	No
MWI Veterinary Supply	signature page and terms	signature and terms	Sur-Vet Hypodermic Needle, Translucent Hub, Thin Wall, Orange, 25g x 5/8"	B100	TERUM	6	5.6100	33.66			1	No
MWI Veterinary Supply	signature page and terms	signature and terms	Sur-Vet Luer Slip Tip 1cc Tuberculin (TB) Syringe with Removable Needle, Orange, 25g x 5/8"	B100	TERUM	7	17.5600	122.92			ı	No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Suture #2-0 PDS II (FS-1) - 3/8 Circle Rev Cut 24mm / 27" Violet Polydioxanone	B12	ETHIC	2	119.9100	239.82			ı	No
MWI Veterinary Supply	signature page and terms	signature and terms	Suture #4-0 Vicryl RAPIDE [RB-1] 1/2 Circle Tpr Point 17mm / 27" Undyed Polyglactin	B12	ETHIC	1	. 137.5200	137.52			ı	No
MWI Veterinary Supply	signature page and terms	signature and terms	Synthetic Cast Padding, 4" x 4yd	P20	3M	2	34.6900	69.38			N	No
MWI Veterinary Supply	signature page and terms	signature and terms	Syringe, Lock Tip, 3cc	B100	TERUM	1	. 9.3600	9.36			ı	No
MWI Veterinary Supply	signature page and terms	signature and terms	Syringe/Needle Combination 3cc, Luer Lock Tip, Black, 22g x 0.75"	B100	EXEL	21	. 5.7900	121.59			ı	No
MWI Veterinary Supply	signature page and terms	signature and terms	Telfa Non-Adherent Dressing, 3" x 4"	P100	CARDL	1	. 17.4400	17.44			ı	No
MWI Veterinary Supply	signature page and terms	signature and terms	Terramycin (Oxytetracycline Hydrochloride) Antibiotic Ophthalmic Ointment, 3.5gm	TUBE	ZOET	7	14.8500	103.95			N	No
MWI Veterinary Supply	signature page and terms	signature and terms	Tobramycin Ophthalmic Solution 0.3%	5ML	VALEA	8	6.5200	52.16			ı	No
MWI Veterinary Supply	signature page and terms	signature and terms	Tongue Depressor, 6"	B500	VT1	1	. 4.8400	4.84			ı	No
MWI Veterinary Supply	signature page and terms	signature and terms	Transfer Pipette, Disposable, 1.7mL	P500	JORG	1	. 38.4300	38.43			1	No
MWI Veterinary Supply	signature page and terms	signature and terms	Trazodone Hydrochloride Tablets 100mg, 1000 Count	B1000	ZYDUS	2	52.0500	104.10			N	No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Trazodone Hydrochloride Tablets 50mg, 100 Count	B100	ZYDUS	1	. 3.6900	3.69			1	No
MWI Veterinary Supply	signature page and terms addendum	signature and terms	Universal Medicated Shampoo, 16oz	16OZ	VETOQ	2	15.2300	30.46			1	No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Vet-A-Mix PrednisTab (Prednisolone) for Dogs 5mg, 1000 Tablets	B1000	LLOYD	1	41.8600	41.86			1	No

Supplier Name	Response Notes	Response Attachment	Item/Service (Required - Entity)	Unit (Required - Entity)	Manufacturer (Required - Entity)	Quantity (Required - Entity)	Unit Bid Price (Required - Supplier)	Extended Bid Price	Notes Sup	plierNotes	Attachme nts	NoBid
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Vetorphic (Butorphanol Tartrate) Injection 10 mg/mL, 20mL	20ML	VT1		1 61.4200	61.42				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Vetprofen (Carprofen) Flavored Anti-Inflammatory Tablets for Dogs 100mg, 180 Count	B180	VETOQ		83.6400	334.56				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	VetriJec Hard Pack Luer Lock Syringe, 60cc	B20	VT1		1 17.1000	17.10				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Vetrimec (Ivermectin) 1% Sterile Solution Injection for Cattle and Swine, 50mL	50CC	VT1		1 19.9300	19.93				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Vetropolycin Bacitracin Neomycin Polymyxin Ophthalmic Ointment, 3.5 g	3.5GM	DECHR		9 5.4800	49.32				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	VetScan Rapid Test: Heartworm	P25	ZOET		92.7500	185.50				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	VetStarch 6% Hydroxyethyl Starch 130/0.4 in 0.9% Sodium Chloride Injection, 250mL	250ML	ZOET		1 18.5500	18.55				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	VetStarch 6% Hydroxyethyl Starch 130/0.4 in 0.9% Sodium Chloride Injection, 500mL	500ML	ZOET		3 26.9500	80.85				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	VetStix 11SG Urinalysis Test Strips, 100 Count	B100	VT1		2 23.0100	46.02				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Viralys Oral Gel for Cats, L-Lysine Supplement, 5oz	5OZ	VETOQ		1 14.2400	14.24				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Viralys Oral Powder for Cats, L-Lysine Supplement, 100gm	100GM	VETOQ		1 17.6400	17.64				No
MWI Veterinary Supply	signature page and terms addendum	signature and terms addendum	Welactin Canine Omega-3 Supplement, 120 Softgel Capsules	B120	NUTRX		2 11.4900	22.98				No